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A) “The profit maximization is not an operationally feasible criterion.”
Is the statement true? Comment on it.

Q.1 And

B) “Retained earning does not involve any cost”. Do you agree? Justify 20 CO2
your answer.

15+5=| CO1,

A) “Many financial problems involve cash flow accruing at different

points of time for evaluating such cash flow an explicit consideration of _

: ) . : : 15+5=

Q.2 time value of money is require”. Justify this statement. CO?2

And 20

B) Why money in the future is worth less than similar money today?
Give the reasons and explain.

A) “Operating risk is associated with cost structure, whereas financial
risk is associated with capital structure of a business concern.” Critically 15+ 5 =
Q.3 examine this statement. CO3

And 20
B) “Financing a business through borrowing is cheaper than using
equity.” Briefly explain.

Explain the various implications of dividend theory given by Walters,
by taking into consideration the following three situations:
a) Whenr>Kk;
Q.4 b) Whenr=k; 20 Co3
¢) Whenr <Kk,
Where, r = Rate of return on investment and
k = Cost of Capital




Q.5

A company has to choose one of the following two mutually exclusive
projects A&B. Project A requires Rs.20,000/and Project B requires
Rs.15,000/- as initial investment. The NCFAT at the end of one life are
Rs.12,000 (for project A) and Rs.15,000 (for Project B). The firms cost
of capital is 10%. The manager of the company has calculated both NPV
and IRR of the project and ranked them accordingly. The outcome of his
calculation are given below:

Projects NPV IRR Rank under | Ranked
NPV under IRR

A 908 20% 2nd 1st

B 1089.3 18% 1st 2nd

The above chart has confused him and his not able to decide, which
capital budgeting method he should consider for undertaking the best
project. Being an MBA student of financial management, explain in
detail how you will tackle this situation, so that it will help the manager
in making correct decision.
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